
  

 

 

M.Com. DEGREE EXAMINATION –  
JANUARY 2015. 

First Year 

MANAGEMENT AND COST ACCOUNTING 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE of the following. 

1.  Define budget. List out its elements. 

 vmh¨£mi¯À Áøμ¯Özx Auß TÖPøÍ 

SÔ¨¤kP. 

2.  The details of cost per unit of an activity level of 
10,000 units are as follows : 

 Rs. 
Raw material 10 
Direct expenses 8 
Labour 2 
Variable overhead 4 
Fixed overhead  6 
Total cost per unit 30 
Profit per unit 2 
Selling price per unit 32 

 Calculate break even quantity. 
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 10,000&® A»S EØ£zvPõÚ J¸ A»Qß EØ£zv 

ö\»ÄPÒ öPõkUP¨£mkÒÍÚ. 

 ¹

‰»¨ö£õ¸Ò J¸ A»QØS 10 

÷|›øha ö\»ÄPÒ 8 

T¼ 2 

©õÖ¨£k® ÷©Øaö\»ÄPÒ 4 

{ø» ÷©Øa ö\»ÄPÒ 6 

AhUPÂø» 30 

C»õ£® 2 

ÂØ£øÚ Âø» 32 

 \›\© ¦ÒÎ A»SPøÍ PnUQkP. 

3.  From the following details, calculate 

 (a) Breakeven point in units and value,  

 (b) Number of units that are to be sold to earn a 
profit of Rs. 90,000.  

Fixed factory overhead Rs 60,000 

Fixed selling overhead Rs 12,000 

Variable manufacturing cost per unit Rs. 12 

Variable selling expenses per unit Rs. 3 

Selling price per unit Rs. 24  
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 RÌPsh Â£μ[PøÍ öPõsk \›\© ¦ÒÎ A»SPÒ 

©ØÖ® ©v¨¤øÚU Psk¤izx ¹. 90,000 C»õ£® 

Dmh ÷uøÁ¯õÚ ÂØ£øÚø¯ PnUQkP. 

 {ø» öuõÈØ\õø» ÷©Øaö\»ÄPÒ  ¹. 60,000 

 {ø» ÂØ£øÚa ö\»ÄPÒ  ¹. 12,000 

 ©õÖ® EØ£zv ö\»Ä J¸ A»QØS ¹. 12 

 ©õÖ® ÂØ£øÚ ö\»Ä J¸ A»QØS ¹. 3 

 ÂØ£øÚ Âø» J¸ A»QØPõÚx ¹. 24 

4.  Differentiate between performance budgeting and 
programmed budgeting. 

 ö\¯À vmh£mi¯¾US® ©ØÖ® {PÌa] {μÀ 

vmh¨£mi¯¾US® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

5.  From the following particulars, calculate fixed 
overhead variance, expenditure variance and 
volume variance. 

 Budget Actual 

 Rs. Rs. 

Fixed overhead for November   20,000 20,400 

Production (units) 10,000 10,400 

Standard time per unit 2 hours – 

Actual hours worked – 20,100 hours 
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 RÌPsh Â£μ[PøÍ öPõsk {ø» ÷©Øö\»Ä 

÷ÁÖ£õk, ö\»Ä ÷ÁÖ£õk ©ØÖ® A»SPÒ 

÷ÁÖ£õmøh PnUQkP. 

 vmh® 

¹. 

Esø© 

¹. 

{ø» ÷©Øa ö\»ÄPÒ |Á®£º 

©õuzvØS 

20,000 20,400 

ö£õ¸Ò EØ£zv GsoUøP  

A»SPÒ 

10,000 10,400 

uμ {ºn¯ Põ»® J¸ A»QØS 2 ©oPÒ –
Esø© Põ»® – 20,100 

©oPÒ

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR of the following. 

6. Explain zero base budgeting. 

 ø\£øμ Ai¨£øh¯õP öPõsk u¯õ›US® vmh 

£mi¯ø» ÂÍUSP. 

7. Prepare a funds flow statement from the 
following. 

Liabilities 2011  2012 Assets 2011  2012 

 Rs.  Rs.  Rs.  Rs. 

Share 
capital 

 
1,00,000 

  
1,00,000 

Goodwill 12,000  12,000 

General 
reserve 

 
14,000 

  
18,000 

Building 40,000  36,000 
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Liabilities 2011  2012 Assets 2011  2012 

 Rs.  Rs.  Rs.  Rs. 

P&L 16,000  13,000 Plant 37,000  36,000 

Sundry 
creditors 

 
8,000 

  
5,400 

Investment 10,000  11,000 

Bills 
payable 

 
1,200 

  
800 

Stock 30,000  23,400 

Prov. for 
tax 

 
16,000 

  
18,000 

B/R 2,000  3,200 

Res. for 
doubtful 
debts 

 
 

400 

  
 

600 

Debtors 18,000  19,000 

    Cash 6,600  15,200 

 1,55,600  1,55,800  1,55,600  1,55,800 

 Depreciation charged on plant was Rs 4,000 and 
on building Rs 4,000. Provision for taxation of  
Rs. 19,000 was made during the year .Interim 
dividend of Rs 8,000 wad paid during the year. 

RÌ öPõkzxÒÍ C¸¨¦ {ø»ø¯U öPõsk {v Kmh 

AÔUøPø¯ u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ 2011  2012  ö\õzxUPÒ 2011  2012 
£[S•uÀ 1,00,000 1,00,000  |Øö£¯º 12,000 12,000 
ö£õxPõ¨¦ 14,000 18,000  Pmih®  40,000 36,000 
C»õ£/|mh 

P/S 

16,000 13,000  G¢vμ® 37,000 36,000 
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ö£õÖ¨¦PÒ 2011  2012  ö\õzxUPÒ 2011  2012 
PhÜ¢÷uõº 8,000 5,400  •u½k 10,000 11,000 
ö\.©õ.^ 1,200 800  \μUQ¸¨¦ 30,000 23,400 
Á› Põ¨¦ 16,000 18,000  ö£. ©õ. ^ 2,000 3,200 
I¯UPhß 

Põ¨¦ 

400 600  PhÚõÎPÒ 18,000 19,000 

    öμõUP® 6,600 15,200 

 1,55,600 1,55,800   1,55,600 1,55,800 

 G¢vμ ÷u´©õÚ® ¹. 4,000. Pmih ÷u´©õÚ®  

¹. 4,000, Á›Põ¨¦ ¹. 19,000 BS®. CøhUPõ» 

£[Põuõ¯® ¹. 8,000 ® C¢u Bsk ö\¾zu¨£mhx. 

8. The sales and profits for 2011 and 2012 are as 
follows: 

Year Sales (Rs.) Profit (Rs.) 

2011 1,50,000 20,000 

2012 1,70,000 25,000 

 Find out  

 (a)  P/V Ratio,  

 (b)  BEP,  

 (c) Sales for profit of Rs. 40,000,  

 (d)  Profit on sales of Rs. 2,50,000 and  

 (e)  Margin of safety at a profit of Rs. 50,000. 
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 2011 ©ØÖ® 2012 B® BsiØPõÚ ÂØ£øÚ ©ØÖ® 

»õ£® ¤ßÁ¸©õÖ. 

Á¸h® ÂØ£øÚ 

(¹.) 

»õ£®

(¹.) 

2011 1,50,000 20,000 

2012 1,70,000 25,000 

 RÌPshÁØøÓ PnUQkP. 

 (A) »õ£ AÍÄ ÂQu® 

 (B) \©{ø»¨ ¦ÒÎ  

 (C) »õ£® ¹. 40,000 GÛÀ ÂØ£øÚ GÆÁÍÄ 

 (D) ÂØ£øÚ ¹. 2,50,000 GÛÀ »õ£® GÆÁÍÄ 

 (E) £õxPõ¨¦ £Sv, »õ£® ¹. 50,000 GÛÀ. 

9. Calculate the fixed overhead variances for the 
month of January from the following details. 

Budgeted fixed overheads for January Rs 1, 00,000 

Budgeted output for January 50,000 units 

Standard time for 1 unit 5 hours 

Actual hours worked Rs. 2, 55,000 

Actual fixed overhead for the month Rs. 1,10,000 

Units produced during the month Rs. 52,000 
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 RÌ öPõkzxÒÍ Â£μ[PøÍ öPõsk {ø» ÷©Øa 

ö\»ÄPÒ ÷ÁÖ£õkPøÍ PnUQkP. 

 ¹. 

áÚÁ› ©õuzvØPõÚ vmh ÷©Øaö\»ÄPÒ 1,00,000 

áÚÁ› ©õuzvØPõÚ vmh  

ö£õ¸ÒPÒ 

50,000 A»SPÒ

uμ ÷|μ® J¸ A»QØS 5 ©oPÒ

Esø©¯õÚ £o Põ»® 2,55,000 

Esø©¯õÚ {ø»÷©Øö\»ÄPÒ 1,10,000 

EØ£zv¯õÚ ö£õ¸mPÒ ©õuzvØS 52,000 

10. The budgeted and actual sales for the a period in 
respect of two products are as follows. 

Product Qty(units) Budgeted 
price(Rs.) 

Value Qty(units) Actual 
price(Rs.)

Value(Rs.)

X 600 3 1,800 800 4 3,200 

Y 800 4 3,200 600 3 1,800 

 Calculate Sales Variances. 

 Cμsk ö£õ¸mPÎß Esø© ©ØÖ® ÂØ£øÚ 

Â£μ® öPõsk ÂØ£øÚ ÷ÁÖ£õkPøÍ PnUQkP. 

ö£õ¸Ò A»SPÒ vmhÂø» ©v¨¦ A»SPÒ Esø© 

Âø» 

©v¨¦

X 600 3 1,800 800 4 3,200 

Y 800 4 3,200 600 3 1,800 
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11. With the following data for 60% activity, prepare 
the production, budget for 80% and 100% capacity. 

Production at 60% activity 600 units 

Material Rs. 100 per unit 

Labour Rs. 40 per unit 

Direct expenses Rs. 10 per unit 

Factory expenses Rs. 40,000(40% fixed) 

Administration expenses Rs. 30,000 (60% fixed) 

 60% \uÂQu Ai¨£øh¯õP öPõsk 80% ©ØÖ® 

100%UPõÚ EØ£zv vmh¨£mi¯ø» PnUQkP. 

 ¹. 

EØ£zv 60% AÍÂÀ 600 A»SPÒ 

‰»¨ö£õ¸mPÒ 100 A»S JßÔØS

T¼ 40 A»S JßÔØS 

÷|›øha ö\»ÄPÒ 10 A»S JßÔØS 

öuõÈØ\õø» ö\»ÄPÒ 40,000 (40% {ø»)

{ºÁõPa ö\»ÄPÒ 30,000 (60% {ø»)

12. Calculate discounted pay-back period and net 
present value from the details given below. Two 
projects M and N which are mutually exclusive 
under consideration. Both of them require an 
investment of Rs. 1,00,000 each. The net cash 
inflows are estimated as under. 
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Year M 
(Rs.) 

N 
(Rs.) 

PV of Re. 1 a @ 12%

1 10,000 30,000 0.893 

2 40,000 50,000 0.797 

3 30,000 80,000 0.712 

4 60,000 40,000 0.636 

5 90,000 60,000 0.567 

 RÌPsh Â£μ[PøÍ öPõsk PÈÄ v¸®£ ö£Ö® 

Põ» AÍÄ ©ØÖ® {Pμ uØ÷£õøu¯ ©v¨¦ 

Ai¨£øh°À PnUQkP. M ©ØÖ® N GßÓ 

vmh[PøÍ ö\¯À£kzu ¹. 1,00,000 Bμ®£ 

•u»õPU öPõsk {Pμ öμõUP Á¸©õÚzøu 

PnUQkP. 

Bsk M 
(¹) 

N 
(¹) 

PõμoPÒ 12%

1 10,000 30,000 0.893 

2 40,000 50,000 0.797 

3 30,000 80,000 0.712 

4 60,000 40,000 0.636 

5 90,000 60,000 0.567 

––––––––––––––– 


